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Why Do Some Schools Do Better Than Others?
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Academic performance of students varies widely from one school to another. What are
some of the reasons? How can public education improve outcomes for all students?

A random sample of 11 high schools was selected from the state of Michigan and data was
recorded for two variables. In Michigan, all high school Juniors are required to take the SAT.

0O 10 20 30 40 50 60 70 8 9

Osrcont Preefreduced lunth

1. The variable on the y-axis is "Average SAT math score". What variable is on the x-axis?
Brainstorm several ideas in your groups.
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2. Your teacher will reveal the variable on the x-axis. Write it in on the above scatterplot.
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3. Describe the relationship between x and y. Percent of shudeats ,°
“Eree or reduced lunch .
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9. Can we conclude that being poor causes student achievement to decrease? Explain.
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6. What might be some confounding variables that would help explain this relationship?
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7. The equation of the line of best fitis j=577.9—-1.993x . Use it to predict the average SAT
math score for a high school with 58% of students free/reduced lunch.

SAT 2 $77.9-1.993(SB) = 462.3

8. East Kentwood High School (home of The Stats Medics!) is represented in the data set
with 58% free/reduced lunch and an average SAT math score of 490.4. Calculate and

interpret the residual for East Kentwood High School.
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d in public education to eliminate this very clear relationship that
n academic achievement and poverty. What is your school currently
uity? What else could they do?
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